3043

B.'Teeh. (KE) 3rd Semester (G-Scheme)
Examination, November-2023
MEASUREMENTAND INSTRUMENTATION
Paper - P,CQ;EEJ' 0-<

Time allowed : 3 hours] [Maximum marks : 75

Note : Attempt five questions in all, selecting one question

from each Unit. Question No. 1 is compulsory. All

questions carry equal marks.

1. Explainthe following: - 6x2.5=15

(a) Absolute instruments
(b) Transducers

(c) Thermocouple

d Accurééy

(e) ‘Sen_sitivity

(f) Indicating instrumeﬁfs
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(2) 3043
Unit-I -

Describe three forces or torques required for proper

operation of indicating instruments. 15
Explain construction working of CRO. 15
Unit-IX

Explain construction working of MOVING IRON type
instrument also derive its deﬂectlon torque equation and

advantages & dlsadvantages . C\ 15

g
2

The resistance of a moving COi"i voltmeter is 12000 Q .
The moving coil has 100 turn and is 4cmléng and 3cm
wide: The flux density in the air gap is 6x10~ wh/m2.
Find the deflection produce by the 30(.)V< if the spring
control gives the deflection of one degree for a torque
25x107" Nm.. o | 15

Unit-ITT

Wlth the help of neat diagram explam constructlon’

workmg of dynamometer type wattmeter. 15
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(3) R

Write short notc on: 1D

(1) Frequency meter

4

(i) Compensationand creep in eneray meter .

Unit-1V

Explain the Wheatstone bridge with its limitation. 135

Explain the circuit and phasor diagram of Maxwell's

induction capacitance bridge. ' l

- ‘i




3042

B.Tech. (EE) 3rd Semester (G-Scheme)
| Examination,NOvember—2023
ELECTRICAL MACHINES-I
Pal;ér - PCC-EE-209-G

Time allowed : 3 hours] [Maximum marks : 75

Note : Attempt five questions in all. selecting one question
from each Unit. Question No. 1 is compulsory. All

questions carry equal marks.
1.  Explain the following: 6x2.5=15

)K)/ What causes over heating of commutator in DC
machine? |

. ﬂ’/ How energy can be stored or retried from a
magnetic circuit?

| Qc’f How does change in frequency affect the Operation

of a given transformer?
S;H/What are the possible causes excessive sparking
~ atbrushes in a DC motor?
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(2) 3042
(2)  Inrush current.
(ﬂ/’/Methods of excitation of DC machine.
Unit-L |

% State and explain Ampere's law. Using the same law, find
the magnetic intensity (H) for an infinite line current.
| 15

3. Draw and explain different zone of B-H curve for a
magnetic material. 15

Unit-II

4. Draw the back emf equation and induced emfin armature
coil for DC machine. 15

}%Explain commutation of DC machine. What results in -
poor commutation? Also explam methods of i Improving

commutation. 13
Unit-IIT

6. DrawV-Iand torque speed Characteristicg of separately

excited and serjes motor, 15

% Draw and explain the “Ircuit diagram, of different types

of DC generators. - 15
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(3) 3042
Unit-IV

Why equivalent circuit of transformer is required? Draw
and explain equivalent circuit of single-phase

mansformer in details. - 15¢

A I0KVA. 220/110V transformer has maximum

efficiency 96% at 0.8 power factor lagging it core is
160W and full load regulation at 0.8 power factor lagging
is\S?,--’a _Find the efficiency and regulation at 80% full

load. 0.9 power factor lagging. S



3044

B.Tech. (FE) 3rd Semester (G:-Scheme)
Examinafion, November-2023
ENGINEERING M ECHANICS

Paper - ESC-EE-202-G

Time allowed : 3 hours] [Maximum marks : 75

Note: Question No. 1 is compulsory. Attempt total five
questions selecting one question from each Unit. All

questions carry equal marks.
1.  Write short notes on :- - - 6%x2.5=15
(a) ~Coordinate S}yétem
(b) Euler Angles
(c) Parallel Axes Theorem
(d) FreeBody Diagram .
(e) Centroid

(f)’ Angle of Repose
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3.

6.

7.

02 3044
Unit-j

Explaim symmetric tensox Anti-symmetric tensor Eigen

values and Principal a:\es In details. 15

What is Euler's theorem and Euler_'."z‘mgle? Explain

Coordinat;: transformation of vectors and tensor. 15

Unit-IT

Describe the various methods of finding out the centre
of gravity of a body.

15
Find the momeljt ofinertia ofa I-section having flange
and web both 120 mmx30mm about X-X axis passing

through the centre of gravity of the section. 15

Unit-I]I

What is the effect Gyroscoplc Couple on a naval ship

during Rolling? IS

Explain free body diagram. Give examples on modelling
of supports and joints, 15
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(3) 3044
Unit-1v

<87  Derive the Torsion €quation applied to circular shafts.

15

9. Drai&"sheaf force and bending moment diagram for SSB,
 AB of span 9m carrying udJ 1800 N/m run on the part
: ;{'CDof span so that AC=2m, CD=4m and BD=3m.

- 15
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o @eMOSer (LS ehomiat § g
() drd Sel (G-Scheme) Bxamination,

13.Tech. o
November. 2023
RLRCTRIC ‘CIRC U ANALYSIS
'1"”(“ “”' ( ( 'F 'ﬁ"’2"|~€l
ch alluwt“d ””’"H I [ Marxlmpum marks : 75

W(}t&? s

K \1\’.

Arrempl any Jive questions in total, selecting at
least one question from each section. Question

No. 1 is compulsory.

(X"

(iif)"
(i)
@)

(y/) .-':'y'."
e’ &
Yt

E - A

(vi)

i

Write down the apphcatmn of compensatlon |
_theorem. ' |

Write down the condition of supemode
Write brief about the Re01proc1ty theorem

What do you mean by fundamental cut set matrix
in graph theory 7.

Write down the odd adnrnttance parameter equatlon '
in two port network.

Explam the concept of cntlcally damped in second -
order. : |

Wnte brief about mutual coupled c1rcu1t

(viii) Why we need i inverse laplace transform ?

(%)
(x)

Write brief about transient g ponsc:&’

Explam the concept of duality in }e or}& /1/ .
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Section_A

2. (i‘) Fiﬂd\"aﬂd(i)inthecircuitgiven_be.low: 7.5
6V

14"’@) s’y 20 J§6Q

(11) Use. Mesh analysis to determine i, i
and 1, In the circuit given below : . 7.

(W) IN

| __ SQ§ O YE < 50
20V Z>\7 ! |

4A

—\
10Q

3 1;7 §2o§z

3. Using Norton's theorem, find R and L, of the circuit
given below at terminal ab. _ 15

A |
| ?/ZIX | |
———AN l ' oa.

X~ |

—ob
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. 3040
Section_R
f.l (i) Ifthe switch & g:iv\i? below fig. openatt=0 find
v(t) for t 20a0¢ ¥e(0) 7.5
] Sy
24v(®) 5t TV Sino S4Q

(ii) men in fig. below has been
closed for a long time. It is open at
£=0. findi (0, V (0°) 75

4Q 2> |

- 0.25H

2Q +
R\

12V 1f T

5. Find V(1) for t 20 in the RLC circuit as shown in fig.

below : R . 15
AL - <«i
302 | 0.4H
pal B
40V <A §50Q V= 20pf
Section—C
5 3
6. Synthesize the network, if "Z(S) = > 4+SS 2+ 45
e | - - ST +387 +1
as Cauer-I form. - ‘ 15

3040 - prO
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7. Testforprf. f£(S)= _wzs * 15
£ 1) 1287 +8+2
Scction—-—D e
8. (i) Derive the expression for Z synthesm/ with R-
.. .ohm termination. ’ 7.5
(ii)  Explain the. parallel-parallel interconnection in
two port network. » - 7.5
9. () In the circuit given below, determine the
-+ fundamental loop matrix and fundamental cut set
 matrix. - - 1.5
NIEYY
~M——
52 | ° 9H |
.20V %m Fouf = 8uf

(4) j3040

(ii) Evaluate Vst in the circuit givenbelow: - 7.5

3040

50 i , i
W—o—7, =120 —o0——
\) - [z,=8Q -
| Z,=8Q |
. f Z. =200 —T 2200 -
Vl.- 22 p | Vz é B




B.Tech. dvd Semester (Electvical Engg.) (G-Scheme)
Examination, November-2023

ANALOG ELECTRONICS
Paper - PCC-EE-205-G

Time allowed : 3 hours] [Maximum marks : 75

Note : Attempt any five questions in all, selecting one
question from each Unit. Question No. 1 is

compulsory. All questions cdrry equal marks.
1. - Explain the folloxﬁng: | - 6x2%=15
(@) Write the applications of PN J urrction diode.
(b) Explairr the PN junetion diode act as a rectifier. J

(c): WhyisCE eenﬁguraﬁorr preferred over the other
configuration?

(d)) Define voltage-to-current converter.
(¢) Explain in brief zero crossing detector.

() Discussthe advantages of negative feedback.
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(2) 3041
Unit-1

(@) Explain in detail the voltagc-cﬁm'cnt (V-1)

characteristics of a diode. - | 10

- Explain the working of zener diode. 5

. . (a) Sketchthe mput and output characterlstlcs of CE .
conﬁouratlon of transistor and explain the blasmg

operation. - - P10
. AN

(b) Explainin brief BJT act as a switch. .5
. Unit-I1

4. (Explain_in detail the construction, operation and
Characteristics of n-channel enhancement MO SFET.

> @ leferentlate between the Depletlon MOSFET and

Enhancement MOSFET. . 10

(b) D‘SCHSS the workmg of qmall q1gnal model of
| MOSFET - 5
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(3) 3041
Unit-111

(@) Derive-n expression of inverting and non-inverting

configuration o {operational amplifier. 10
w xplain the concept ofvirtual ground. 5

Analyze the different feedback ednfigurations and derive
the expression of voltage gain, input resistance and

output resistance for voltage shunt feedback amplifier.
15

Unit-IV.

Explaii in detail the following: O 15

/Qa) Instrumentation Alﬁpliﬁer

(b) Lead an-ﬁd‘:téig 'compensator using op-amp

Explain how an op-a'tﬁﬁ"éan be used as integrator? Also

" “derive the expression for the output and give the

applications. | < 15
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